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Читання
Text 1

The teddy bear is a child's toy, a nice soft stuffed animal suitable for cuddling. It is, however, a toy with an interesting history behind it.

Theodore Roosevelt, or Teddy, as he was commonly called, was president of the United States from 1901 to 1909.He was an unusually active man with varied pastimes, one of which was hunting. One day the president was invited to take part in a bear hunt; and inasmuch as Teddy was president, his hosts wanted to ensure that he caught a bear. A bear was captured, clanked over the head to knock it out, and tied to a tree; however, Teddy, who really wanted to hunt actually, refused to shoot the bear and in fact demanded that the bear be extricated from the ropes; that is, he demanded that the bear be set free.

The incident attracted a lot of attention among journalists. First, a cartoon — made by Clifford K. Berryman to make fun of this situation — appeared in the Washington Post and the cartoon was widely distributed and reprinted throughout the country. Then toy manufactures began producing a toy bear, which they called a “teddy bear”. The teddy bear became the most widely recognized symbol of Roosevelt's presidency.

  Statements

1.  The topic of the passage probably is ...

a)  Theodore Roosevelt's activity;

b)  the episode from Theodore Roosevelt's life;

c)   the origin of a popular play thing;

d)   the history of one incident.

2.  The word “pastimes” in line 5 is closest in meaning to ...

a)  duties;                                         b)  hopes;

c)  jobs;                                            d)  hobbies.

3.  The passage implies that Theodore Roosevelt was ...

a)  a poor hunter:                             b)  a fair-play person;

c)  a good president;                        d)  a faithful friend.

4.  To make fun of the situation Clifford K. Berryman produced ...

a)  a photograph;                              b)  a radio program;

c)  a drawing;                                   d)  a film.
5.  The word “clanked” in line 7 can be best replaced with ...

a)  hit;                                               b)  squeezed;

c)  grabbed;                                      d)  splashed.

6.  The teddy bear toy witnessed about ...

a)  US economic growth;

b)  lack of  patriotism;

c)  shortage of toys in the US;

d)  Roosevelt's popularity in the country.

Text 2

Unlike earlier campaigns, the 1960 presidential campaign featured the politically innovative and highly influential series of televised debates in the contest between the Republicans and the Democrats. Senator John Kennedy established an early lead among the Democratic hopefuls and was nominated on the first ballot at the Los Angeles convention to be the representative of the Democratic party in the presidential elections. Richard Nixon, then serving as vice president of the United States under Eisenhower, received the nomination of the Republican party. Both Nixon and Kennedy campaigned vigorously throughout the country and then took the unprecedented step of appearing in face-to-face debates on television. Political experts contend that the debates were a pivotal force in the elections. In front of a viewership of more than 100 million citizens, Kennedy masterfully overcame Nixon's advantage as the better-known and more experienced candidate and reversed the public perception of him as too inexperienced and immature for the presidency.

     Statements

1.  The passage is mainly dealing with ...

a)  the facts from American history;

b)  information about John Kennedy;

c)  the political situation in America in the 1960s;

d)  Richard Nixon's failure.

2.  The word “hopefuls” in line 4 is closest in meaning to ...

a)  people with hopes;                              b)  potential candidates;

c)  foolish hopes;                                      d)  hoppers.

3.  The Kennedy-Nixon presidental campaign ...

a)  was not organized in a common way;

b)  contained nothing special;

c)  was a competition of two experienced politicans;

d)  mainly took place in Washington D.C.

4.  It can be inferred from the passage that the campaign ...

a)  was of no importance for America;

b)  was pre-arranged for Kennedy's victory;

c)  attracted attention of the whole country;

d)  was Nixon's triumph.

5.  The word “pivotal” in line 10 may be replaced with ...

a)  cardinal;                                                b)  secondary;

c)  additional;                                             d)  useless.

6.  According to the passage,almost nobody ...

a)  believed in Nixon's victory;

b)  doubted Nixon's victory;

c)  was interested in the result of the campaign;

d)  was watching the television debates.

Письмо

Read the text below. Complete the story with the correct forms of the words in brackets. Write your answers on a separate answer sheet. 
«In great depth under the Atlantic Ocean, there are the vestiges of a continent…».

These are the first words of «Atlantis, the eighth continent», Charles Berlitz’s bestseller.

There (1)_____(to be) many films, tales and books about Atlantis, the submerged continent and  there (2)_____(to be) many people that had vainly looked for it, trying in that way to reveal a great mystery, the mystery of its disappearance.

Atlantis… Many(3)_____(to talk) about it, but someone (4)_____(to hear) about it only during their childhood or from the medias.

Many people regarded Atlantis as a story of fantasy.

In the «Timeo» and in the «Crizia», Plato told about Atlantis as a very wide island. This island(5)____(to be) larger than Libya and Asia and from this island we (6)_____(can) go to the other island and from these islands to the continent on the other side, around the real sea. On this island a great civilization (7)_____(to rise). An advanced civilization whose memory is lost. What was the cause? Perhaps the eruption of a suboceanic volcano, perhaps the impact of an asteroid with the Earth or a seaquake caused by a moving of the Earth’s axis… Someone (8)____(to think) that long ago there (9)____( to be) two moons gravitating around our planet; one of them may have been attracted by the Earth till (10)____( to fall) on it, giving an end to the era. In fact, also the existing moon slowly approaches to the Earth. For the moment we mustn’t (11)____( to worry) about it, but, perhaps, within hundreds of year the same may happen. The great civilization (12)____(to disappear) about 12, 000 years ago, but someone survived.

